
Truy cập hoc360.net để tải tài liệu học tập, bài giảng miễn phí 

Truy cập hoc360.net để tải tài liệu học tập, bài giảng miễn phí 
 

6).  sin 2x 3 sin 2x 2
2

  
    

 
 cos2x 3 sin2x 2                     

1 3
cos2x sin 2x 1

2 2
  

cos2x.cos sin 2x.sin 1
3 3

 
      cos 2x 1

3

  
   

 
 

 2x k2 x k , k
3 6

 
         

7). cosx 3 sin x 2cos 2x 0
3

  
     

 
 

1 3
cosx sin x cos 2x

2 2 3

  
     

 
 cosxcos sin xsin cos 2x

3 3 3

    
      

 
 

4
cos x cos 2x

3 3

     
      

   

4 52x x k2 x k2
3 3 3

4 k2
2x x k2 x

3 3 3

    
         

  
               

 

8).   2cos2x 1 3 cosx sin x    

    2 22 cos x sin x 1 3 cosx sinx      

     2 cosx sinx cosx sinx 1 3 cosx sinx       

     cosx sin x 2 cosx sin x 1 3 0      
  

 

   

 

 

2 cos x 0 cos x 0             1
cos x sin x 0 4 4

2 cos x sin x 1 3 0 1 3 1 3
2 cos x cos x     2

4 2 4 2 2

      
         

      
            

        
     

 

Giải (1): x k x k
4 2 4

  
        . 

Giải (2): 
x k2x k2

34 12cos x cos
4 12

x k2 x k2
4 12 6

   
         

     
            

 

 

Vậy nghiệm của phương trình: x k
4


   , x k2

3


   ,  x k2 , k

6


     

9).    3 1 sinx 3 1 cosx 1 3     . 

Ta có 2 2a 3 1,b 3 1,c 1 3 a b 2 2          

3 1 3 1 1 3 5 5 1 3
sin x cosx sin x.cos cosx.sin

12 122 2 2 2 2 2 2 2

     
       

5
x k2x k2

5 312 12sin x sin
5 312 12

x k2 x k2
12 12 2

   
            

         
              

 

 

Vậy nghiệm của phương trình:  
3

x k2 ,x k2 , k
3 2

 
        

https://hoc360.net/
https://hoc360.net/


Truy cập hoc360.net để tải tài liệu học tập, bài giảng miễn phí 

Truy cập hoc360.net để tải tài liệu học tập, bài giảng miễn phí 
 

10). 33sin3x 3 cos9x 1 4sin 3x    
33sin3x 4sin 3x 3 cos9x 1       sin9x 3 cos9x 1    

1 3 1
sin9x cos9x

2 2 2
                      

1
sin9x.cos cos9x.sin

3 3 2

 
    

sin 9x sin
3 6

   
   

 

k2
9x k2 x

3 6 18 9
7 k2

9x k2 x
3 6 54 9

    
      

  
          

  

 

Vậy nghiệm của phương trình:  
k2 7 k2

x ,x , k
18 9 54 9

   
      

 

https://hoc360.net/
https://hoc360.net/



